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1 KEHE 45m22m/1mMA.23m/1MA)

EARHE 13 mm 520 M/1MA = 520 {
EEXHE 22m/1HAB 10 m x 65 H = 650 H
12 m x 127 H = 1,524 H
it [2.694m @
EARHE 13 mm 520 M/1MA = 520 {
EEFE 23m/1HA 10 m x 65 H = 650 H
13 m x127 A = 1,651 H
B _2 | 2,821/ @
KEHE(@D+Q) x HER (2,694 M+ 2,821 H) x 110 = 6,066H @
2 TFAKEERH 45m(22m/1hA.23m/1HH)
EHARERR 700 A/1MA = 700 H
HEEFERH 22m/1H A8 10 m X 10 {© = 100 H
12 m X 105 A = 1,260 H
it (20601 @
EARERR 700 A/1MA = 700 H
H=FEAF 23m/1HNA 10 m X 10 {© = 100 H
13 m x 105 =] = 1,365 H
it [2.165]@ ®
TKEFEFRE@G@+®)x HER (2,060 +2,165 M) x 110 = 4,647 ®
KEHE+TKEFAHO@+®) 6,066 H+4,647 H =10,713 0
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EARHE 20 mm 950 A/1MA = 950 {
EtEXE 28m/1HA 10 m x 65 H = 650 H
15 m X 127 H = 1,905 H
3m X 156 M = 468 M
it [8.973]m @
HEAHE 20 mm 950 /1M A = 950 M
HEEHE 28m/1HAB 10 m X 65 M = 650 {
15 m x 127 H = 1,905 H
3 m X 156 M = 468 H
MH @
KEHE(@D+Q) x HER (3,973 M+ 3,973 M) X 110 = 8,740H
2 TFKEERF 56m(28m/1MA.28m/1HhH)
EARERR 700 H/1HhAB 700 H
HEFERAK 28m/1Hm B 10 m x 10 M = 100 H
15 m x 105 H = 1,575 H
3 m X 165 H = 495 H
it [2.870]m @
HARFERE 700 A/1H B 700 M
HEFERAF 28m/1HhA 10 m % 10 A = 100 H
15 m x 105 H = 1,575 H
3m X 165 M = 495 H
it (28701 ©
TKEFERAF@+O) x HEF (2,870 + 2,870 M) X 110 = 6,314 ®
KEHE+TKEFAH@+®) 8, 740H +6,314 H =15, 054 M
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